Nut

19002
M16
——— <73
—A
- : 1
f\ . <
_J f |
y I |
Profile A-A
5 M22
§ T _ 48
< [ &
S

9E-001

A
!

Profile A-A

Material M18XA M22X1.5

with triangular dot on one side paint nut with straight dot on both side
Zinc die casting 19002-M3202 19002-M440222 19002-M440244 19002-M4440226
Full brass 19002-M3204
Stainless steel 19002-M44608

Accesories
19002

For cutout 22.5x20.1

@222
|

X

[
AL INELY)

020.1%

R
\S=%

24

Profile A-A

Plastic PA

19002-9408-2
Pull tab in-line with cam

*$15.918%

*135°

19002-9408-4
Pull tap perpendicular to cam

@227

*315.9:82
* 135
26
+0.1
o 9 *@21.3°9
O < |
30.2
421
Profile A-A

For cutout 22.5X20.1

Pull tab in-line with cam

Pull tap perpendicular to cam

For cutout 13.5X 016

For cutout 13.5X@16

19002-9404

19002-9408-2

19002-9408-4

Large size
For cutout 22.5x20.1

Small size
For cutout 16x13.5

Large size

Small size

* 2160

3

* 13.5%)
(<
.

46

227
* ©26.59 ,

224+0.05
|
I

 m—

A
I

19002-8202
19002-8204

Index

]
(]
=
o
n
0
Q
Q
5]
<




Accesories
19202 . 19212

External hexagonal cross flange screw

5.5

M6 g

M.S. zinc plated

I O I B

19202-M1012 M5 X 6 19202-M1212 M6 X 6
19202-M1016 M5 X 8 19202-M1216 M6 X 8
* 19202-M1020 M5 X 10 19202-M1220 M6 X 10
(]
-8 19202-M1024 M5 X 12 19202-M1224 M6 X 12
19202-M1032 M5 X 16 19202-M1232 M6 X 16
_8 19202-M1036 M5 X 18 19202-M1236 M6 X 18
o
(7]
7]
Q
o
Q
<
2 D1
o2 o03
s |

SR

|

73 ) |

i |

obi
\ M.S. zinc plated
o | o [ w [ we ] oot ooz ] ¢oaf ene | w

% 19212-M16 15 33.3 17 32.6 20 6.3 16 8
19212-M20 18 41.5 21 41 25 8 20 10
19212-M24 22 51 26 50 30 10 25 12
19212-M32 27 60 30 60 85) 12.5 30 16
19212-M40 30 71 35 72 40 16 35 20
19212-M44 34 84 43 81 44 18 40 22
19212-M48 38 90 45 90 50 20 45 24
19212-M60 45 110 55 110 60 25 60 30

19212-M72 55 131.5 65 133 70 315 70 36




